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Rank System Vendor | Total Cores [Rmax (TFlops) | Rpeak (TFlops)| &7 (kW)
1 |BlueGene/Q, Power BQC 16C 1.60 GHz, Custom IBM 1,572,864 16,325 20,133 7,890
2 |K computer ((2), SPARC64 VIlIfx 2.0GHz, Tofu interconnect | & & 705,024 10,510 11,280 12,660
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>>n=1000; loop = 10; mem1(n,loop)




mem1.m

function mem1(n,maxloop)
A = randn(n); % random matrix
B = zeros(n);

disp('row-wise')

tic
for loop=1:maxloop
fori=1:n
B(i,:) = A(i,:);
end
end
toc

disp(‘column-wise')

tic
for loop=1:maxloop
forj=1:n
B(:.j) =AC);
end
end

toc
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- BBl D E18 : #include<time.h>, clock()Z{EHAT 5

- JLERIERE (Flops) : 1# I B DR E/ N R HERE TESHHD
$5#Z(floating-point operations per second)
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Input n 1000

(i,j,k) Time(sec)=sss, MFlops= OO0
(i,k,j) Time(sec)=sss, MFlops= OO0
(j.k,i) Time(sec)=sss, MFlops=COOO
(j,i,k) Time(sec)=sss, MFlops=( OO0
(k,i,j) Time(sec)=sss, MFlops= OO
(k,j,i) Time(sec)=sss, MFlops= OO0
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s =0.0; s1=0.0; s2=0.0;
for(i=0;i<n;i++){ for(i=0;i<=n-2;i+=2){
s +=a[il; s1 +=ali]; s2 += a[i+1];
} }
s =81+ s2;
for (;i<n;i++){/* IREALEE */
s += all];

}
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#include <stdio.h> [* DDE ¥
int main(void) printf("unrolling = 4\n");
{ for(i=0;i<=n-4;i+=4){
inti, n; printf(" i = %d\n", i);
printf("i+1 = %d\n", i + 1);
printf("n =\n"); printf("i+2 = %d\n", i + 2);
scanf("%d", &n); printf("i+3 = %d\n", i + 3);
}
printf("unrolling = 2\n"); printf("reminder\n");
for(i=0;i<=n-2;i+=2){ for (;i<n;i++){
printf(" i = %d\n", i); printf(" i = %d\n", i);
printf("i+1 = %d\n", i + 1); }
}
printf("reminder\n"); return O;
for (;i<n;i++) }
printf(" i = %d\n", i);
}
[* BEA~DDLH
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